



UNIT 5 Z - Transforms and Difference equations
Initial and Final value Theorem

Initial Value Theorem:

$$\text{If } z[f(t)] = F(z), \text{ then } f(0) = \lim_{z \rightarrow \infty} F(z)$$

Final Value Theorem:

$$\text{If } z[f(t)] = F(z), \text{ then } \lim_{t \rightarrow \infty} f(t) = \lim_{z \rightarrow 1} (z-1)F(z)$$

Problems on IVT & FVT

1. If $F(z) = \frac{5z}{(z-2)(z-3)}$, find $f(0)$ and $\lim_{t \rightarrow \infty} f(t)$

By IVT

$$f(0) = \lim_{z \rightarrow \infty} F(z) = \lim_{z \rightarrow \infty} \frac{5z}{(z-2)(z-3)} = \lim_{z \rightarrow \infty} \frac{5z}{z^2 - 5z + 6}$$

$$= \lim_{z \rightarrow \infty} \frac{5}{2z-5} \quad [\text{By L'Hôpital's Rule}]$$

$$= 0.$$

By FVT,

$$\lim_{t \rightarrow \infty} f(t) = \lim_{z \rightarrow 1} (z-1)F(z) = \lim_{z \rightarrow 1} (z-1) \frac{5z}{(z-2)(z-3)} = 0.$$



SNS COLLEGE OF TECHNOLOGY
(AN AUTONOMOUS INSTITUTION)
COIMBATORE - 35



UNIT 5 Z - Transforms and Difference equations
Initial and Final value Theorem

2. Find the Initial & Final Value of $F(z) = \frac{z}{2z^2 - 3z + 1}$

By IVT, $\lim_{z \rightarrow \infty} F(z) = f(0)$

$$f(0) = \lim_{z \rightarrow \infty} \frac{z}{2z^2 - 3z + 1} = \lim_{z \rightarrow \infty} \frac{1}{4z - 3} = 0.$$

By FVT, $\lim_{z \rightarrow 1} f(z) = \lim_{z \rightarrow 1} (z-1) F(z)$

$$= \lim_{z \rightarrow 1} (z-1) \frac{z}{2z^2 - 3z + 1}$$

$$= \lim_{z \rightarrow 1} (z-1) \frac{z}{(2z-1)(z-1)}$$

$$= \lim_{z \rightarrow 1} \frac{z}{2z-1}$$

$$= \frac{1}{2(1)-1} = \frac{1}{1} = 1$$